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A-10 Cp-04

BAPUAHT 1

1°.a)sin113°cos67°+sin67°cos113;
0) cos74°c0s29° +sin74°cos61°.

2°, 5c05% 30, tg 3a.
3. sina =08, g<a<n.

sin(x + 45°) +sin(x — 45°)
" sin(x+45°) —sin(x —45°)

5. cosa :%, 270° <o < 360°,
1

sinp==, 90°< B <180°.

w

Haiimu sinQo + ).

A-10 Cp-04

BAPUAHT 2

1°.a)sin76°c0s31°—cos76°sin31%;
6) cos41°sin71°—sin41°sin19°.
2°. cos2¢p-— 2cos? 0.

3 3n
3. cosa=——, T<Oo<—.
5 2

sina+ x)-sinxcos2a
" cos(2a—x)—sinxsin2a’

1
5. ctgx==.
g 2

Haiimu cos4x.

A-10 Cp-04

BAPUAHT 3

1°.a) c0s62°c0s17°+sin62°sinl7°;
0) sin13°sin43°+sin47°cosl3°.

2°. cosda +sin? 2.

3. sina =-0,6, n<(x<37n.

sin(x+45°) —sin45°cos x
" cos(x—45°) —c0s45°CoS X |

5. tga=2.

Haiimu tg [%+ 2(1].

A-10 Cp-04

BAPUAHT 4

1°.a) c0s164° cos106°—sin164°sin106°;
6) sin67°sin53°—c0s67°sin37°.

2°. cos&p+25in2 4o.
3. sina:—E, n<o<—.
17

sin@+t)—sin@-t)
" cos@+t)—cos@—t)

5. tga:3\/§.

Haiimu \/gtg [% - 20.).

A-10 Cp-04

BAPUAHT 5

1°.a) c0s66°c0s24°—sin24°sin66°;
6) sin24°sin54°+c0s24°sin36°.

2°. cos? B—cos2p.

, T <—.

3. cosa = 72
13 2

sino+v)—sinycosa
" sin@—y)+sinycosa.

5. tga=2\/§.

Haiimu sin[% + 20().

A-10 Cp-04

BAPUAHT 6

1°.a)sin156° cos24° +cos156°sin24°;
6) cos81°cos51°+sin81°sinl129°.
2°. 4sin2ytgy.

3. sincx:—i, 3—TC<OL<2TC.
13 2

sin(o +30°) —sin30°cosa
" €050.c0530°—cos(o+30°)

5. tga=-3.

Haiimu /2 sin[% + 20(}

A-10 Cp-04

BAPUAHT 7

1°.a@)sin72°c0s27°—sin27°¢cos72°%
6) c0529°sin59° —sin31°sin29°.
20, cos* 2t —sin* 2t.

3. cos<x=£, 3—T[<oc<27'c.
17 2

sin@a+ 2b) —sin@a - 2b)
" cos(3a+2b) +cos@Ba—2h)

5. cow:z, 3—n<(x<27t,
3 2

. 1 =
SINp=—, —<pPp<m
B 3 2 p<m

Haumu sinQa. + 2p).

A-10 Cp-04

BAPUAHT 8

1°.a)sin81°sin36°+c0s81°cos36°;
6) sin19°cos11°+sin169° cos19°.
2°. 3sin2x ctg x.

3. cosa =0,6, %ﬂ <o <2m

sin( —2pB) +sin2p cosa
" cos(a+2B)+sin2Bsina

1
5. tgx==.
g 3

Hatimu cos4x.

A-10 Cp-04

BAPUAHT 9

1°.a)sin116°c0s26°—c0s116°sin26°
©0) sin78°c0s48°—sin12°sin48°.

2°. 6sintcostcos2t.
3. Sinazfg, E<ot<2n.
5 2

cos(a+ 2t) +sin2tsina
" cos(a—2t)—sinasin2t

5. tgx=3.

Haiimu sin4x.

A-10 Cp-04

BAPUAHT 10

1°.a) c0s64°c0s19° +sin19°sin64°;
6) sin59°sin76° —sin14°co0s59°.
2°. cos6p+1.

3. cosa =0,6, O<(x<%.

sin(x +45°) +sin(x — 45°)
" cos(x +45°) —cos(x —45°)

5. COSO(,ZE, 3—n<a<2n,
3 2

. 1 =z
sinf==, —<B<m
B 3 2 B<m

Haimu cos(o —2p).

A-10 Cp-04

BAPUAHT 11

1°.a) cos54°c0s36° —sin54°sin36°;
6) sin159°c0s39° +5sin39°cos21°.

2°. 85in2Bctg[3.
3. sina:g, O<a<Z,
13 2
sinfy —60°) +sin60°cosy
" cos(y +60°) +sin60°siny

V3

5 tgoa=—.
g 4

Haitimu Cos[ll?7t - 2(1).

A-10 Cp-04

BAPUAHT 12

1°.a)sin118° c0s28°—cos118°sin28°;
6) c0s73°c0s43°+sin73°cos47°.
2°. ctgt—tgt.

3. sina:E, O<a<Zl.
5 2

sinfy —¢)+singcosy
" oSy — () —COS(COSY

1
5. tgo==, tgB=2.
ga=7. t9p

Haiimu ctg (2cx - ZB).

A-10 Cp-04

BAPUAHT 13

1°.a) c0s93°c0s48°+5in93°sin48°;
0) sin162°c0s12° +sinl2°cos18°.
2°. 3sin? 2B cos? 2p.

3. Sina:i, O<a<Z.
17 2

sin(a+ @) +sin— o)
" cos(a+@)+cos(—@)
23

5. ctgo=——.
g 3

Haiimu CO{% + 20(].

A-10 Cp-04

BAPUAHT 14

1°.a) c0s128°cos52°—sin128°sin52°;
6) sin78°c0s33°—c0s57°cos78°.

2°. (sina+cosa)? —1.
. 12 =«
3. sino=—, —<a<Tm
13 2

sin( +t)-sintcosa
" cos(o—t)—sintsina
33

-

5. tga

Haimu si n(%t - 20.].

A-10 Cp-04

BAPUAHT 15

1°.a)sin126°cos36°—c0s126°sin36°;

6) c0s69°sin81°+5sin9°sin69°.
2°. (sin5b—cos5b)? —1.
4 x
3. c0sa=——, —<a<Tm
5 2

sin@2a—30°) +sin30°cos2a
" c0s2ac0s30°—cos(2a+30°)

5. ctgx=2.

Haiimu sin4x.

A-10 Cp-04

BAPUAHT 16

1°.a)sin24°co0s36° +sin36°c0s24°;
6) c0s62°sin58° +5sin62°sin32°.
2°. cosda —1.

15 n
3. co0sa=——, —<Oo<T.
17 2

cos(X +45°) + cos(x — 45°)

4. .
cos(x +45°) —cos(x —45°)

5. cosa =%, 270° <o < 360°,

sin[ﬂ:%, 90° < B <180°.

Haiimu cos(2o — 2B).




A-10 Cp-04

BAPUAHT 17

1°.a)sin28°c0s32°+sin32°c0s28;°
6) sin39°co0s6°+sin6°sin51°.
2°. 1-(siny—cosy)?.

3n

. 4
3. siha=——, t<a<—.
5 2

sin(+B)+sin@—p)
" cos(a—P)—cos(a+P)

1
5. ctgx==.
g 3

Haiimu sin4x.

A-10 Cp-04

BAPUAHT 18

1°.a)sin124°cos34° —cos124°sin34°;
6) cos44°cos14° + cos46°cos76°.
2°. 6tg3tsin6t.

3. cos<x:i, 3—n<oc<2ﬂ:.
5 2

sin(y —45°) + cosysin45°
" cos(y +45°) +sinysin45°’

23

5. ctga=——-o.
go 9

Haiimu Sin[7?rE - 2&).

A-10 Cp-04

BAPUAHT 19

1°.a) c0s32°c0528°—-sin32°sin28°%
6) sin62°sin73°—sinl7°c0s62°.

20, 2sin? 3y +cos6y.
3. sina:—i, 377[<(x<27:.
sin30°cost +sin( —30°)

" cos(t —30°) —cos30°cost

5. com:%, 270° <o < 360°,

sinB:%, 90°<pB<180.

Haiimu cos2a + 2).

A-10 Cp-04

BAPUAHT 20

1°.a)sin79°c0s49°—sin49°cos79°%;
6) cos74°cos14°+cos76°sin74°.

2°, (c052a+sin2a)2 -1

3. COS(XZE, O<a<=.
17 2

4 cos(p— 2x) —sinesin2x

" singsin2x +cos(@+2x)

1
5. ctga=—.
g 2

Haiimu tg(%+ Z(XJ.

A-10 Cp-04

BAPUAHT 21

1°.a) c0s26°c0s34° —sin26°sin34°;
6) sin64°sin64°+ cos64°sin26°.

2°. sin? 3B + cos6p.
3. cosa:i, O<a<Z,
13 2
sin(x + @) —cosxsing

" cos(x—¢)—sinxsing

3

5 tga=—.
ga 5

Haiimu CO{% + 20(].

A-10 Cp-04

BAPUAHT 22

1°.a)sin104°cos76°+cos104°sin76°;
6) c0s56°c0s11°+5sin56°cos79°.

2°. 1-cos4o.

3. sina =08, 0<oc<%.

sin(y —45°) + cosysin45°
" cos(y +45°) —cosy cos45°

5. cosoc=g, 3—n<oc<2n,
3 2

. 1 =
sinf==, —<B<m
p 3 2 p

Haimu sin( — 2).

A-10 Cp-04

BAPUAHT 23

1°.a) sin54°c0s36° +sin36°cos54°;

6) c0s63°sin57°+sin63°sin33°.
2°. 4sin? 2xctg 2x.
3. cow:i, 0<a<Z.
5 2

cos(a +45°) + cos(a. — 45°)
" cos(o.—45°) —cos(o+45°)

5. tgx=2.

Haiimu cos4x.

A-10 Cp-04

BAPUAHT 24

1°.a)sin143°cos37°+c0s143°sin37°;
6) c0s87°sin63°+sin87°sin27°.

20, 2cos? 3B —cos6p.
3. cosa =-0,6, g <OU<T.

sin(0°—t) +sin©®0° +t)
" c0s(60°—t)+cos(B0°+1)

5. cosa:g, 37ﬁ<oz<27r,

. 1 =n
SINp=—, —<p<m
p 33 p

Haiimu sinQo.—2).

A-10 Cp-04

BAPUAHT 25

1°.a)sin71°c0s26° — cos71°sin26°;
6) sin78°c0s18° —sinl18°sinl12°.

2°. 16sin? 20.cos? 2.

. 3 n
3. sine=—, —<oa<m
5 2

A-10 Cp-04

BAPUAHT 26

1°.a) c0s136°c0s44°—-sin44°sin136°
6) sin28°sin88°+sin62°sin2°.
2°. 8sin2Bcos2f3 cos4p.

5 =
3. cosa=——, —<Oa<T.
13 2

A-10 Cp-04

BAPUAHT 27

1°.a) sin51°c0s6° —c0s51°sin6°;
6) c0s61°sin89° +sin61°sinl°.
2°. 4sin4dxtg 2x.
. 8 =n
3. sina=—, —<o<m
7 2

sin(p + 45°) —sin(@—45°)

A-10 Cp-04

BAPUAHT 28

1°.a) cos55°¢c0s5° —sin55°sin5°%;
6) sin48°sin87°—sin3°cos48°.

2°, 6cos? 3t tg 3t.
8 3n
3. cos0=——, T<OL<—.
17 2

cos(o+B) +sinpsina

1°.a)sin297°sin27°+€0s297°c0s27°
6) sin144°c0s54° +sin54°c0s36°.
20, cos? 4(p—Sin44(p.
. 5 3n
3.sihe=——, T<a<—.
13 2
sin +p)—sin—p)
" cos(o+PB)+cosa—P)

V3

5. ctgoa=—.
g 6

Haiimu sin[%-%— 2(1].

1°.a) c0s24°c0s36°—sin24°sin36°;
0) sin47°c0s2°-cos47°cos88°.

2°. ctg 3o —tg3o.

3. cosa =-0,8, 7'c<a<3?n.

sin@0° —x) +cos60°sinx
" cos(0°—x)—sin60°sinx

1
5. ctga=—-=.
g 3

Haitmu 2 Sin(Zoc + %j

1°.a) c0s24°c0s36°—sin24°sin36°;
6)sin112°sin68°—c0s112°sin22°.

2°. 1+cos8e.
3. sina.=-0,8, 377[<a<2n.

sin(3+vy)—cospBsiny

4, .
cosPBsiny+sin—7v)

5. ctga =4, cth:%.

Haiimu tg (20— 2B)

sin(y +30°) —sin30°cosy 2 : ) 4
" cos(y—30°) —cos30°cosy sin@a+3b) —sin2a—3b) sinfp-+45%)+sinp-45%) " sin@+p)-sinpeosa”
5. cosa=2, 270° <o < 360, cos(2a -30) - cos(2a +3b) 5. ctgo _3 5. ctga = —-.
3 . 9 3
sinB:%, 90° < <180°. S tgx=>. Hasimu \/Etg(%—&x} Hasimu 00{4_;,20(}
Haiimu cos(2o + ). Haiimu siné4x.
A-10 Cp-04 |A-10 Cp-04 |A-10 Cp-04 | A-10 Cp-04
BAPUAHT 29 BAPUAHT 30 BAPUAHT 31 BAPUAHT 32

1°.a) c0s103°cos13°+sin103°sinl3°;
6) sin38°cos7°+sin173°cos38°.

2°. cos8y —cos? 4y.

3. COS(x:E, 3—n<(x<2n.
13 2

cos(o.—45°) —cos45°cosa
" sinfa—45°) +sin45°cosa |

5. ctgx=3.

Hatimu coS4X.




